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Instruction :  Attempt all questions.

1. oglasadly usl -
M.C.Q.
(1) 2L vl s us 2l

(@) % e Fld Il etrd sl Al

(b) % e Al
(c) % e Fld -l el
(d) lsuel Ale.

This wrong is not tort.

(a) Which are not exclusively criminal.

(b) Which are not exclusive.

(c) Which are exclusively criminal.

(d) None of these.
(2) usd 2 g 9 ?

(@) ol

(c) SA 3L

What is Tort ?

(a) Crime

(¢) Breach of contract
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(b)
(d)

(b)
(d)
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(Bl 24usR

SEIECR]

Civil wrong

Breach of promise
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(3)  VUSAUIHL 3al w[H51RL *idL w1y 9 ?
(a) udelus xlus2 (b)  ABdsias 2HsR
(c) A5l oo ydl el (d) suel s
Which right is violated by tort ?
(a) Rightin Rem (b) Right in Personam
(c) No violation of Right (d) None of these
(4)  5lql 8554 G101 AUl 2R, 5L ved. ...
(@) Ol AL 1™ (b)  S=gRlAl AL STl
(€) UM AL S=glul (d) I A IHAH
Damage without the infringement of a legal right means
(a) Injuria sine damnum (b) Injuria sine injuria
(c) Damnum sine injuria (d) Damnum sine damnum
(5) “De Minimis non curat lex” >124. ..
(@) sl Adl g BHl | ©.
(b)  sael Al dg 2ul ddl A2l
(¢) -odl ard s1ueld 2Hl ddl e
(d)  sual e,
“De Minimis non curat lex” means
(a) The law does take account of trifles.
(b) The law does not take account of trifles.
(c) Trifles does not take account the law.
(d) None of the above.
(6) Ul Albd UsA HIe eldl 4 s3] ud.
(@) Ll ol (b) Ul
(c) suRaA (d) 9ouR
This person cannot sue for tort.
(a) All of following (b) Bankrupts

(c) A Corporation (d) Convicts
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(7)  [afire usizL Aoiaimiall Gedadl sanedld sdl Rgid @y ud ¢ 2

Which principle is apply to liability arising out of special relationship ?

siueldl o@

AP, AU

Mistake of Law

Act of State

AR Hasd

syel e

Immovable property

None of these

YA AYl

lsyel e

Libel

None of the above

(@)  Adl [Qenwnl Fgid
(b)  sell WAAAL Rgid
() Wallus oAl Rgid
(d) sual s
(a) Principle of Separation of power.
(b) Principle of Rule of Law.
(c) Principle of vicarious liability.
(d) None of the above.
(8) il Auscd-l w2 Al
(@) eSlsadl e (b)
() s s )
It is not remedy available to defence in suit of tort.
(a) Mistake of Fact (b)
(¢) Judicial Act (d)
(9)  3uidR A @l AHusA €.
(a) waud [Masd (b)
(c) siduel Masd (d)
Conversion is tort relating to
(a) Movable property (b)
(c) Any property (d)
(10) ote-all »led....
(a) UM AU (b)
© (a) - (b) i (d)
Defamation means
(a) Slander (b)
(¢) (a) and (b) both (d)
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(11) AL 22aR Hasd-d ddld vuscd .

(a) 3uldR (b) oL

() GBusa (d) 5l4d3

It is a tort relating to immovable property.

(a) Conversion (b) Waste

(¢) Nuisance (d) Conspiracy
(12) U SAUIEIA @dtdl 34 €.

(@) 33 [a. s (b) el [@&. «wise

(c) AAHR [ Rasy (d) ofla [a. @

It is the case relating to cheating.

(a) Derry Vs. Peek (b)  Ashby Vs. White

(c) Chasemore Vs. Richards (d) Guille Vs. Swan
(13) ASIUS GUal-l [Ru @) usdl <2l

(@) [ysl @lsd- (b) Al

(c) ouns (d) suel s

The Rule of contributory negligence in not applicable to

(a) Person professing skill (b) Person

(c) Infants (d) None of these
(14) 2t (A AL 54 sl qowdl 2

(a) $lad3 (b) gHal

(©)  ©9dUl&l (d) olenell

Stephens Vs. Myer’s case is related to

(a) Conspiracy (b) Assault

(c) Cheating (d) Defamation
(15) Alesdsll dsil g54 A 2dla we-l amaxalel

(a) 30 [zan (b) 45 [zan

(©) 25 [ean (d) 40 [eaxn

Time limit for appeal against consumer related dispute is

(a) 30 days (b) 45 days

(c) 25days (d) 40 days
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(16) AU ALes dAsA [HaRRL sHaAml 2L elal $31 w5,
(@) 20 a2l ay sl (b) 25 cvt @l a4y -l
(¢) 1 523 el ay &4+l (d) 50 c ol ay sH-L
This suit can be filed in National Consumer Dispute Redressal foram.
(a) Amount more than 20 lacs (b) Amount more than 25 lacs
(c) Amount more than 1 core (d) Amount more than 50 lacs

(17) 3lsd Aes el wRnedl oss adui 3edl avid Hadl eS¢ 2

(@ o avid (b) s avid

(c) =Bl Auid (d) AR Auid

How many times the meeting of the Central Consumers Protection Council
should be held ?

(a) two times (b) onetime

(c) three times (d) four times

(18) Gl udloon Aed dl wdloL wou 5 %...
(@) 3% UL HIA 53 eld. () RABA ARSI HIY ST Sl
(c) 6ld H s3] el (d) suel s,
Appropriate laboratory means the laboratory which is
(a) approved by Central Government
(b) approved by State Government
(c) approved by Board
(d) None of these
(19) 25¥Ld Auid gluaRL sl 5% .

(a) wy (b) ad: A

(c) i (d)  lad: vig

There is no duty of driver at the time of accident.

(a) True (b) Partly true

(c) Wrong (d) Partly wrong
(20) o vl vy e il %32 ¢ ?

(a) -~u (b) &l

() st d  vsuzl e

The insurance against third party risk is necessity.

(a) No (b) Yes

(c) Maybe (d) None of these
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2. USAAL AU UYL DUSA 2 52U ¢HOL 9221 dslad AHendl. 10

Define Torts. Discuss the difference between torts and breach of contract.

A1AAU/OR

U5 [Ang Hodl Guiai-l 2l 2.

Discuss the remedies available for an action in tort.

3. Asls Gualdl [Mgid uxndl. 10
Explain the doctrine of contributory negligence.

A2YA/OR

3uldRl vl Ul 3uidRAL sl Wlaateld Hotdl il eeLdl.

Define conversion. State the defence available to the defendant in an action for

conversion.

4. otendl 0 Al wxemdl. 10
Explain fully the defamation.

A1AAU/OR

MRUs waUeelRlAlL Rigid Axaal.

Explain the doctrine of absolute liability.

5. sl @l puul. AssHL AlEsR1L @Rl 10
Define consumer. State the rights of consumer.

A2YA/OR

ABAYAAL AL, S5HA 2 s1daAldl Aol
Explain the composition, jurisdiction and procedure of State Commission.
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6. Al : (siSugl o)
Explain : (any two)
(1) 253U Quid gldardl s
Duty of driver at the time of accident.
(2) Al wadl sAvi 4 il
Insurance against third party risk.

(3)  HleR aAler wsMLdL sl A andl 212

Application for compensation under M.V. Accident Act.

(4)  s1Hl ARASAUR

Permanent disablement.
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